
Blatt 8 Aufgabe 1:

Edgar
1 2 3 4 5 6 7

Felix 1 2 3 4 5 6 7

Holger
1 2 3 4 5 6 7

Aufteilung:

1 2 3 4 5 6 7

1



Blatt 8 Aufgabe 2 (b):

Anna 1 2 3 4 5 6

Chris 1 2 3 4 5 6

Belle 1 2 3 4 5 6

David 1 2 3 4 5 6
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Blatt 8 Aufgabe 3:

Chris 1 2 3 4 5 6

David 1 2 3 4 5 6

Belle 1 2 3 4 5 6

Anna 1 2 3 4 5 6

Aufteilung:

1 2 3 4 5 6
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Blatt 8 Aufgabe 4: (bei Bedarf)

Sp. 1
1 2 3 4 5 6

Sp. 2
1 2 3 4 5 6

Sp. 3
1 2 3 4 5 6

Sp. 1
1 2 3 4 5 6

Sp. 2
1 2 3 4 5 6

Sp. 3
1 2 3 4 5 6

Sp. 1
1 2 3 4 5 6

Sp. 2
1 2 3 4 5 6

Sp. 3
1 2 3 4 5 6

Sp. 1
1 2 3 4 5 6

Sp. 2
1 2 3 4 5 6

Sp. 3
1 2 3 4 5 6

Sp. 1
1 2 3 4 5 6

Sp. 2
1 2 3 4 5 6

Sp. 3
1 2 3 4 5 6
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